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Answer the following questions on the rectangular OABC-RSPQ.
ey bAED
Bl P(1,v3 ,1) M P(1,1,1)
Th RO V] b T/u RGP V]
(1) /" COPERE ZRD X, [(1) /i C DFE R &k X,
Find the coordinates of point C.
c(o,v3 ,0)
R RS b
(2)&@??%;%*&5; (2)/5(@7%%%\ o
Find the following inner product.
— — — —
AB - CQ AB - CQ
=Vv3 X[ Xcos 90
=v3 X/ XO:L
— — — —
AB - SQ AB - SQ
=Vv3 X2 Xcos 30
=3 x 7 x 3
2
= 3
— — —
OA RP OA RP
=7 X2 Xcos 60
_ /
= / X2 X% 2
=7/
5% N moEE > > b
WDOXT Vv oa, b ONFE a « b Rk L,
— —
Find the inner product of ¢ and b .
neEn — —> —> —> n< .
B | al=21bl=v2 ., a& bontf s
O — —
a-b
=2 xV2 xcos 45 =2 x VI % % =2
bA RN — — — < ]
B | al=2 | b |=v3 ., a& bortheo
@
hoEn —> —>
i o =(1,238),b =(-231)
@ - -
a-b
= I x(=2)+2x3+3 x/ =7
bAED —> N
0 o =(101). 6 =(-212)
@

o¥ RN ne b
3. ROXZ bV a, bDORTMOERD L,
Find the angle 0 between the following Vectors?and b .
oy —> —
pig o =(0,1.1), b=(121)
- —
a*b=0Xx7+7x2+7 x7=3
9
| a |=Vo*+/*+77 =V 2
%
| 6 =V 72422+ =V ¢
- —
cos 0 — a ‘b - 3 V3
= —~ = =
Gl VoV ’
-1, 0 —i
bAEL > s
W o =(3,45), b =(-122)
@®
bAEL > s
0 o =(n12) b=(-242)
@
LAEL > >
W o =(123) b =(03-2)
@
— EEARE I . b X
4. a ¢ b N EZRDEDIICxDH Z2ED X,
Find the value of x so that vectors a and b are perpendicular.
oy —>
Bl o =(201), b =(34,x)
- >
a b =2XxX34+0 X447 Xx=0
b+ x=10 Soox =_—6
bA N —> —>
W o =(121). b6 =(01x)
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Answer the following questions on the rectangular OABC-RSPQ. Find the angle 0 between the following vectors @ and b .
I bHA N o En
mE P(1,v3 ,1) HE P(vV3 ,1,1) 51 B 7:(1,1,0), ?:(—2,2,1)
- >
a- b =7 x(=2)+7 X240 x7=0
9
| al=v7i?+/7+0" =V 2
%
| B =V (=2 +22 +/* =V 9 =
- -
<A £0r5 by < £0rs  be cos 6 — a- b — 0 =0
1) RSO ZRDE, [(1) K SOMERE ZRD &L, - — \/—
Find the coordinates of point S. a || b | 2 %3
S(7,0,7) ko, 0=_90
oF  AEE b oF  AnEE b bALL > —
@ KOWMERD L, | KOWEERD L, N o =(123) b=(2 -3 1)
Find the following inner product. @
— —> —> —
BC - CQ AB - CQ
= ]/ X/ Xcos 90
= ] X/ XO:L
— — — —
AR -+ BC AR -+ BC
=V2 X[ Xcos 45
bA L —> S
VT x g ox Y2 0 o =(11-2) b =(-2-214)
! ®
-
— — — —
OA -+ BO oC - PA
=7 X2 Xcos /20
_ _ I
=7 x2 x(— —)
= —7
bAEL > —
‘\ i B a:(2,1,2), b:(4,—3,5)
¥ Rotx bl
2. KORJ LAONEERD K, ®

— —
Find the inner product of ¢ and b .

v En —> —> — —> < 3
i | a =4, | b |=v3 ., at bonT s
O — —
a-* b
=4 X3 Xcos 45 =4 xV3 X %
= 2
bhED — —> —> —> <
S | a |:4, | b |:\/3_, at bDRT A 60
@®
— I BAR-F 5 . b SF
4. a bl b PEEIIRDILOIICxDMHE ZED L,
Find the value of x so that vectors a and b are perpendicular.
neEn —> N
Bl o =(211). b =(32x)
nnEn —> N —_
5] B a:(l,l,O),b:(l,Z,l) a* b =2X3+7 x2+7 Xx=90
@ - S+ x = Soox = —§
a-*b =7 x/+7x24+0x7 =3
— bh oy > -
i a :(2,3,1), b :(2,—1,x)
LA En —> —
W o =(3.21).6 =(-230)
@
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Answer the following questions on the rectangular OABC-RSPQ.

B P(V3 ,1,1) i

P(1,v3 ,1)

(D) 5 Q DFE B sk k.

Find the coordinates of point Q.

Q(o,7,7)

Q) /k@%%;%ik&bi

Find the following inner product.

—
BC

R0 E

(%&@W@%*@;

— —
BC -

—
CcQ cQ
=Vv3 X/ Xcos 90
=3 x 7/ Xx0=_0
— —> —
OA OB OA OB
=3 x 2 xcos 30
B V3
*%—X’ZX(* 2 )
= -3
— — —
sSqQ - BA sQ - OA

=2 %/ %xcos /20

=)

:2)(/)((*

Th RO b
(D) = QD FE Z KD I,

o0 KON FADONEERD L.

— —
Find the inner product of ¢ and b .

v

11| RE = 2,
0 5
a - b

— — — me ]
|a| adt bDORT4 135

—2 xv2 xcos135 =2 xv2 x (—ﬁ)

2
= —2
W | o =2 |5 |=v3. ar bonifiso
@
{51 ?:(1,4,1),?:(—1,2,2)
@ - =
a- b =7 x(=/)+4x247 x2 =9
HA i ?:(3,4,5),7:(—1,2,2)

3.

4. akbi))ﬁﬁ§

oE < b
WDORT MILDRT A0 %RD K,

Find the angle 0 between the following vectors a and b .
FiE @ 2,2,1), ?:(0,1,1)
- >
a* b =2%x0+2x7+7 x7=3
| @ | =vV22 422 177 =9 =3
1B =V +7 477 =V 2
cos 0 = i —~ 5 = !
T axV Vo
-7, Gii
LAELY > >
HE a =(2,2,0), b =(1,2,1
i @ (22,0, F(121)
Fi 7:(2,1,2), 7:(4,—3,5)
@
Fi 7:(2,1,1), ?:(1,2,—1)
©
— b < bl

HEOIZxDAE %E&bot

Find the value of x so that vectors a and b are perpendicular.

nnEn —> _—>

1) R a:(l,o,l), b (—2,1,x)
- —
a- b =7 x(=2)+0%x/+7 xx=0
—24+ x=0 xfé




